=R (R ZEER

—. S
1. A  2.AC 3, ABC 4. D 5 C
6. AC 7. C 8. C 9. AD  10. BCD
—. HEEE
11. 12m 12. A HL g 4.0x10°C
VI +2I0 nl>(B, - B
13. 0 14, YL _—2 15. nL’(B, —B)

2 R
= WHEHB KIREREESIES ), g b, BRBEUES%)

16. (1) bHHF 24
E AD R AB R R
Uab = R: [ ] = S. = kS (4%)
R+r At R+r At R+r R+vr
@ =Ya _ ks (24
R R+r
17. (1) E (443
By
B |rommms mameey !
Lfv :
; ' i
. 3L
_ By : L &
R
E BL BLv)?
(@) P=Fv=BILy=BLE v = Ly BLY - (BLY)" (349
R R R
L BLv)* L 2B}
(3 weapr=2pl_ B L_ v (349

v R v R

18. (1) P=Qhgp50% =1.0x10°W

BEMEEER #2071 1R



AP=5%P=50x10°W

AP =1°R
I1=504 (443
(2) U, =250V
P=U,I
~U, =2000V
(341

ny

n,

_U 1
U, 8

AU=IR=U, -U,
.U, = 1900V

U, =220V

n, _U, 1900V _95 .

n, U, 2200/ 11

19.
(1) ¥ ab HEZGERE Ny, SRR ZEM P ANF, o cd BEAHEAY,,

BT N F,

v, =4v, F, =4F,
—Fyt =2m(v, —v) —Ft=-mv, -0
4
v, =§ KA v, = ?V KT A% (84
1 1 1 8

(2) Q=—2mv’ —Emvf —52mvz2 :gmv

BEMEER #2071 $ 2R



R
2 §mv2 (441
R +R, 9

Q.=

BEMEER #2571 3N



